*271 "7 '01n 2,7 2" .7"02

NOYI2TT DR 7MY AP TAY a8 720 0 Y27 — And *''2 maintains
only if the encircled party arose and fenced in the fourth wall,
etc.

Overview

The X713 offered various interpretations as to the np19m» between the p"n and
"9 in the mwn. According to all these interpretations — except for the last —
"9 deals more severely with the 7p°1 than the P"n does. moon will explain
that both these positions can be derived from the wording of the mwn.

mooIn asks:
RNwT 77 23 %Y X — even though up until know the x»3 assumes that *"

TR 197 — was more stringent than the p"n. In all the interpretations >"1 dealt
more severely against the 7°1 compared to the p"n. This view is seemingly implicit in the
language of the 71wn. As -

D77 NN 19Y PRavanT X1k ynwnTs — The expression ‘we cumulatively cast

upon him everything’, implies’ that we deal severely with the Ap*3. Why did this
last N disregard this implication and insist that > is more lenient with the 7°1?

mooIn responds:

°277 917 RY R 779 — According to this 2% it is not so that >"- is more s
than the p"n, despite the above mentioned implication, the reason is —

0PI YRwn TRy aR w7 — that the expression ‘if he arose’ indicates that

we are discussing (only) the nP°1. Therefore we are forced to conclude that if the
nopn built the fourth wall the A1 is MW, According to this W9, the implication of the
words "7y oX' is more compelling than the implication from the words nX 15y 197"
Hon.

Summary
The expression ™27 nR 1"y 1°93%37" indicates that >3 is more 7°nmn than the

P"n (hence all the MW? in the X3 [bar the last one]). The expression oK'
"Tmy seems to limit the liability to the Ap°1 only if he himself built the fourth
wall (hence the XX XIwY).

Thinking it over
How will each of the opposing mnw? address the contradicting implications
in the 71wn?

" The expression ™27 NX 19y 723%3' implies that not only is he required to pay (something), but rather he
must pay for everything.
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